Deductible [Coinsurance Out-of- Generic Brand Non _2024_Credit [Integrated |Generic Brand NonPreferr|Family Deductible [Rx Plan
Pocket Copay Copay Preferred |able with Coverage [Coverage [ed Aggregate [is Brand Maximum |Maximum
Medical Coverage |plan Onlv
S0 $10 $25 S40|N N Copay Copay Copay N N $1,000
$100 50% 50% 50%|N N Coins Coins Coins N N
$200 50% 50% 50%|N N Coins Coins Coins N N
$400 50% 50% 50%|N N Coins Coins Coins N N
S0 75% 50% 50%|N N Coins Coins Coins N N $500
S0 $15 0% 0%|N N Copay Coins Coins N N
$500 $15 50% 50%|N N Copay Coins Coins N N
S0 0% 0% 0%|N N Coins Coins Coins N N
$200 80% $1,200 80% 80% 80% N Y Coins Coins Coins N N $1,000
$250 60% 60% 60%|N N Coins Coins Coins N N
$200 $15 60% 60%|N N Copay Coins Coins N N
$300 $15 60% 60%|N N Copay Coins Coins N N
$1,500 $15 50% 50%|N N Copay Coins Coins N N
$300 $15 50% 50%|N N Copay Coins Coins N N
S0 50% 50% 50%|N N Coins Coins Coins N N
$200 80% $1,200 80% 80% 80%|N Y Coins Coins Coins N N $2,000
S0 S8 $25 S40|N N Copay Copay Copay N N $5,000
S0 $15 $30 S30(N N Copay Copay Copay N N $850
S0 $15 $40 S40(N N Copay Copay Copay N N $1,000
S0 $15 $40 S40(N N Copay Copay Copay N N $750
$300 $10 50% 50%|N N Copay Coins Coins N N
$1,500 $10 50% 50%|N N Copay Coins Coins N N
S0 80% 80% 80% [N N Coins Coins Coins N N $100
S0 80% 80% 80%|N N Coins Coins Coins N N $200
SO $20 $35 $35|N N Copay Copay Copay N N $1,000
S0 $10 0% 0%|N N Copay Coins Coins N N
S0 $15 $30 S50|N N Copay Copay Copay N N $500
$300 50% 50% 50%|N N Coins Coins Coins N N
S0 $15 $40 S40(N N Copay Copay Copay N N $500
S0 $15 $30 S30(N N Copay Copay Copay N N $1,000
$500 80% 60% 50%|N N Coins Coins Coins N N
S0 $15 0% 0%|N N Copay Coins Coins N N $10,000
$50 $10 50% 50%|N N Copay Coins Coins N N
$100 $10 50% 50%|N N Copay Coins Coins N N
S0 $15 0% 0%|N N Copay Coins Coins N N $25,000
$750 60% $4,000 80% 60% 60%|N Y Coins Coins Coins N N $500
$1,500 60% $5,000 80% 60% 60%|N Y Coins Coins Coins N N $500
$2,500 60% $6,000 80% 60% 60%|N Y Coins Coins Coins N N $500
$300 $10 60% 50%|N N Copay Coins Coins N N
$1,500 $10 60% 50%|N N Copay Coins Coins N N
S0 $10 0% 0%|N N Copay Coins Coins N N $10,000
S0 $10 0% 0%|N N Copay Coins Coins N N $25,000
$800 $10 $60 $100|N N Copay Copay Copay N N $10,000
$800 $10 $60 $100|N N Copay Copay Copay N N $25,000
S0 $10 0% 0%|N N Copay Coins Coins N N $50,000
$100 $15 50% 50%|N N Copay Coins Coins N N
SO $15 $40 S40|N N Copay Copay Copay N N $300
S0 $15 $40 S40|N N Copay Copay Copay N N $2,500
S0 S5 $40 S75|N N Copay Copay Copay N N $2,830
S0 S4 $45 S95|N N Copay Copay Copay N N $2,700
S0 S4 $30 S70|N N Copay Copay Copay N N $2,700
$800 $10 $60 $100|N N Copay Copay Copay N N $5,000
S0 $10 0% 0%|N N Copay Coins Coins N N $5,000
S0 $10 0% 0%|N N Copay Coins Coins N N $75,000
S0 0% $30 S40(N N Copay Copay Copay N N $2,510
S0 S5 0% 0%|N N Copay Coins Coins N N
$800 $10 $60 $60|N N Copay Copay Copay N Y $10,000
$800 $10 $60 S60|N N Copay Copay Copay N Y $25,000
S0 S5 $15 S45|N N Copay Copay Copay N N $5,000
$800 80% 60% 50%|N N Coins Coins Coins N N
S0 S5 0% 0%|N N Copay Coins Coins N N $5,000
S0 $15 $40 S40|N N Copay Copay Copay N N $3,500
S0 $6 $45 S90(N N Copay Copay Copay N N $2,930
S0 $6 $35 S90(N N Copay Copay Copay N N $2,930
S0 80% $3,400 0% $30 $S80(N Y Copay Copay Copay N N $2,930
S0 80% $3,400 0% $45 $95(N Y Copay Copay Copay N N $2,930
$105 80% $6,700 $10 $45 $95|N Y Copay Copay Copay N N $2,930
S0 80% $4,750 $6 $45 $85|N Y Copay Copay Copay N N $2,930
S0 S5 $35 $65|N N Copay Copay Copay N N $2,930
S0 S5 $45 S80|N N Copay Copay Copay N N $2,930
S0 80% $1,000 S5 $35 S65|N Y Copay Copay Copay N N $2,930
S0 80% $1,000 S5 $45 S80|N Y Copay Copay Copay N N $2,930




$0 80

5

zg 8002 $2,000 $

$2,000 - o
— 80%|  $1,500 = ol
— 80% $1,500 = - = |
: , $35 I C
S0 80%| $3 S5 - Y = C
80% ,400 S $45 5 Coi = .

SO == 5 - — Y Co Y Copay C pay N

S0 $5 $45 $65[N Y C p— e o N :

30 $15 $30|N Y opay _ |Copa — N —
0 6 $60 $100[N . con e mE R | =
S0 80%|  $3,400 $2 $32 $90[N N Copay Cop:y o I : =
$0 80% $5,900 0% $35 $85|N N Copay cozay e = : —
SO o 56,700 — $25 $50|N N Copay CopaV Copay [N N $2,930
50 80% ss’ooo $10 §45 $95[N Y Copay copay Copay : : =
so e ss,ooo — 45 $95[N Y Copay CopaV Copay N N $500
SO 2 ss,ooo o = e Y Copay copaV Copay [N N $2,970
0 80% $3'4o 0% $30 $80[N ; com e - | =
S0 ,400 0% $45 $95[N Y Copay Copay o . : =
$0 $10 $45 $95|N y Copay Copay o N =

$250 15 $40 $70|N Y Copay Copay o N =
- o — — $45 $85|N N Copay Copav Copay [N N $2,970
$250 80% $1,500 $10 $45 $95|N N Copay Copay ot I N =
$500 80% $1,500 $15 $40 $70[N N Copay Copay o I : =
- i SZ’OOO — $45 $85|N % Copay Copav Copay [N N $2,970
$500 80% $2,000 $10 $45 $95[N Y Copay coz:y copay : : =
SO o S0 $40 $70|N v Copay __ |Co y _ |Copay [N N $2,970
$0 ,000 $10 $45 $85|N Y Copay cozzy Copey : N =
S0 80%|  $1,500 $10 5405 $95[N Y Copay copay copey - : =
SO = $1I500 ™ = oSy Y Copay copaV Copay [N N $2,970
30 80% $1,500 $15 $40 $70|N N Copay copay L N =
so o SZ,OOO — $45 $85|N Y Copay __|Coin y  [Copay [N N $2,970
$0 80% 32,000 $10 $45 595N Y Copay cop: o - : =
$0 80% $2,000 $15 $40 $70(N ; o c y = N N =
$0 ) $10 $45 585 Y Copay |C STRRET N S
$ $45 N Copa opay |[c I : —
0 $5 <3 $95[N Y Y Copay s 5 ; .
$0 80%| $1,000 $5 S $65|N Y Copay Copa o I N =
SO o sl'ooo — $45 $80|N N Copay Copay Copay [N N $2,970
0 80% sz'OOO $5 $35 $65|N N Copay  |cCo e N =
- o sz,oo — $45 $80|N Y Copay Copav Copay [N N $2,970
$0 ,000 5 $35 $65|N Y Copay Copay o N =
S0 20% $45 $80|N Y Copay Copay o : =
50 $10 60% o%ln v Copay cOpay o : =
% siof —siol 7ol N I [ e ; =
$0 80%|  $1,000 $10 $45 ¢g5[N N Coins Coin . Copey . N —
$0 80% $1,000 $10 $45 $95[N N Copay cop: —— : ; =
$0 80% $1'000 $15 $40 $70[N N Copay Cop . copay 4 ; =
SO s sz'ooo — $45 $85[N Y Copay COpZV Copay N N
$0 80% szlo()o $10 $45 595N Y Copay copay copy - : =
$0 80% szlo(,o $15 $40 $70[N Y Copay copay copy - N =
SO o sl,ooo — $45 $85|N Y Copay Copay Copay [N N $2,850
$0 80% $6,350 $10 $45 595N Y Copay copay copey - N B
SO s $3,OOO — $4“o $70|N Y Copay copaV Copay [N N $2,850
SO o sz,soo — OUA 0%|N Y Copay copaV Copay [N N $2,850
50 80% $2’000 $10 Of 0% [N Y Copay copay Copay : : =
so o SI,SOO — Of 0%|N Y Copay __|Coin y _ |Copay [N N $2,850
$0 80% $31500 $10 Of 0% [N Y Copay CoinS e = : —
so o $41500 — Of» 0%|N Y Copay COinS Coins N N $2,970
so = ss,soo m - — Y Copay Coins Coins N N
$0 80% $5' $10 0% 0% - Con o S = N
,000 o i C - ‘ |
S0 $10 - 0% [N - o Cors = : N
S0 $15 0% 0% . Com Co — N
SO $8 = 0; N Y o Co?ns Coins N N
0 80%|  $3,40 $3 $43 $9Z E I Con Cg::s = E N
0 80% s4'408 0% $43 $94|N I Con Coms = N N
so z $3,900 c = o N Copay Cop > Coins N N
SO - sglzoo o — — Y Copay cop:V Copay N N
S0 80% $3I400 $2 $35 $80[N Y Copay copay copay - : =
SO o $4'900 — $40 $90|N Y Copay _ |Co ay Copay [N N $2,850
S0 80% $6’700 0% $40 $90[N Y Copay cogay copy - N =
$0 80% $3,200 $10 $35 $80|N ; Con Copay = N N =
S0 ; $2 $45 $S95|N Y Copay Copay copey - N B
$0 80%|  $1,000 80% $30 575N Y Copay Cop . Copoy 5 : =
$2,500 80% $1o,000 $5 0% 0%[N - Con z : = : | -
= o ss:soo = 30305 $65|N N Copay COS:V Copay N N $2,850
80%| $11,600 $10 0;’ 0%]|N 0 Eoms Comsy = N -
$10 0°/° 0%|N ! Copay cons = : | .
b 0%]|N Y Czpav Coins T : =
\ COS:V Coins Eofns I N -
y Coins CO?nS . : -
oins Y \
N




$1,250
$2,500 80%| 2
$0 80% ,500 3
$5,01 10
) ,000
$10 0% o
5 210 = of -
:O 80 55 o 0; T i Co
0 % pa
%0 So;: $6,700 $3 220 $9S ":“ y COpaz Coins =
%0 0% $3,200 $5 $40 <50[N N Copay Coins Cofns N
%0 80; $3,250 $2 $38 90N N Copay Coins C0|ns v N
0 O
% 0% 24,500 ;2 0 <75[N v Copay EOpay Colns 3 N
$0 80% 3,200 o? $35 $90[N Y Copay opay Copay N N
0 0% $4,400 % T <80[N " Copay Copay Cc)pay N N 99,099
$0 80% 53,650 Scz 20 $50|N Y Copay Copay Copay N N $2,960
$0 $3,500 0% <3 $S90|N Y Copay Copay C pay N N $2,960
$0 50% $3§ $80[N Y Copay Copay Copay N N $2,960
10 Co opa
20 o 580[n Y CoomyToonar oo : 2%
$0 80% S 545 $70(N Y Copay pay |Co N 2,960
$1,00 10 C Copa pay N 52
$0 80%| 0 o a5 $85[N N opay _|C v |copa N ,960
50 80% $1,000 $1O 20 $95|N N Copay C°pav % y N N $2,960
S0 80% SLOOO 515 $45 $70[N N Copay Copay Copay N N $2,960
S0 80% SZ,OOO $10 $45 $85|N Y Copay COpay Copay N N $2,960
50 8% 52'000 $10 $40 $95|N Y Copay COpaV copay N N $2,960
50 80% 2,000 S > 5 s70[N v Copay opay Copay N N $2,960
0 $1,000 ;0 a5 $85|N Y Copay E"pav Cozay N N $2,960
a’
$5,000 80%| o SS $35 $95[N Y Copay Copav COpay N N $2,960
$2,500 80% Slz'ooo $5 $35 $65|N Y Copay Copav o y N N $2,960
21300 80% $21900 $15 $45 $65|N Y Copay COpay Copay N N $2,960
$2,600 80% $6'450 Slo 0% $S80|N N Copay Copay Copay N N $2,960
20 8% $16'450 s10 0% 0%|N Y ConayCopay bt N 52,960
$1,300 80% $2’900 510 0% 0%[N Y Copay Copay Copay N N $2,960
22,600 80% SSASO $10 0% 0%|N Y Copay Co.pay copay N N $2,960
22500 [ S50 e — 0%[N v Copay oo b N 52,960
$1,300 80% 5,000 0 0% 0%|N Y Copay oins Coi S Y N $2,960
$ $12,00 510 - 0 C Coins oins N $2
1,300 80% 0 0% 0%|N Y opay Coi N ,960
$6,0 $10 ° Coin oins N
$2,600 80% $2' 00 510 0% 0%|N Y Copay o S Coins N
S0 30% $5IGOO 0 0% 0%[N Y Copay Cofns o v N
50 80% 200 S 0% 0%[N Y Copay oins__|Coi N N
$0 80% 56,000 10 oo0 0%|N Y Copa Coins e N N
,6 o oin N
6| $6,600 $10 % c y  |Coins Coins
20 80%| o4 $10 0% % 1 ! opay _|Coi Coins !
50 80% $6,OOO $10 0% O%(N Al copay co?ns Coins Y -
$0 80% 850 S 0% 0% [N Y Copay omns Coi N N
3 $3,400 10 o o o Coins ins N N
$0 0% S 0% %|N Y pay _ Coi
$280 30% $4,700 0% 3 o A v Copay Coins !nS v N
%0 80; $5,900 0% $35 Sssn 7 Copa Coins CO!ns N N
6| 56,7 $12 35 y _ [coin Coins N
$0 ,700 7 $85|N Y Copay s |coi N
% $10 : 0 3 7 Copa Coins oins N N
$10 40 N y Co Coins N
$0 Sa $93|N \ Copay pay C N
$15 0 S C Copa opay N
$0 80%| 1 510 545 70[N Y opay c y Copa N
50 80% S ,000 o $45 $85[N N Copay Copay o Y N N
20 [ S1.00 —— Sos|N N Coony [Conay — N $3,700
20 [ S200 —— s70[N N Coony [Conay — N $3,700
2 eox 200 — a5 Y Copsycovay — N $3,700
$3,000 30% 2,000 2 0 20 595N v Copay opay Cc)pay N N 3,700
50 22,000 515 $45 $70|N Y Copay EOpay Cozay N N $3,700
0 0 a
$0 30%| ¢ o 15 $85[N Y Copay c pay COpay N N 43,700
$200 1,000 o 0% $95|N Y Copay opay S Y N N $3,700
3 $5 ° C Copa opay N $3,7
,500 55 435 0% [N Y opay c y Copa N : ,700
£300 $15 0% $65|N N Copay Czpay Copa\:’ N ”:“ $3’700
50 15 60% 0%[N Y Coins Co_pay Copay N S $3f700
$0 50% 0% [N N Copay ins o N 3,700
$15 6 C Copa oins N 3
$0 S 50% 0%|N N opay pay |Co N ,700
$0 510 $40 0%|N N Copay Coine—TJcoins. N N $3,700
15 Coi oins
$0 80% e 545 $70[N N Copay ins o N N
%0 0% $1,000 0 25 <85 (N N Copay Coins = s N N $3.700
<0 30% $1,000 $10 < 95N N Copay Coins CO!I’\S N N
% 0% $1,000 $15 $40 ol . Copay Copay Colns N N
%0 80% $2,000 $10 $45 <as|N v Copay Copay Copay N N
$2,00 510 > C Copa opay N
$0 80% 0 $40 $95[N Y opay y__|c N
$2,00 $15 C Copa opay N 537
30 80%| S 0 o 545 $70[N Y opay _|C v |copa N 750
$100 30% $1,000 $0 a5 $85[N v Copay Copay % Y N N $3,750
50 Ssoo 51 535 S05]N Y Copy[copay Coay N N ?750
(o]
$0 S ) $65|N Y Copay Copav COpaz N : siﬂsg
$0 o 50% $93[N Y Copay Copay Copay N : : 750
80%| S 547 0%|N Y Copay  |C pay  |Copa N 3,750
5,500 3 2 50%|N N Copay opay _|cC y_ N N $3,750
0% $40 $93[N N Coins Copay Copa‘/ N N $3,750
0 <3N N Copay Coins CO_pay N N $3,750
Y Copay Copay o N N $3,750
Copay Copay c ins N N $3.750
Copay Copay N N
opay N N 53’750
N $3,750
$3,750




0 80
5
%
28 0% 2:,500 &
09 ,500 $40
50 % $6,50 $3 $93|N
% 0% %6 0 $5 240 $93[N Y
80% 2000 4 240 $ Y Copay 1€
20 80; $5,800 o $40 $Z3 N v Copay COpay Copay N
0 6] $5,000 > $35 3N Co opay 1
B , pay opa N
0 6| $3,400 d $30 3N Co opay |C $3,75
, pay opay N 750
5260 100%| 36,7 100% $03|N Y Copa N
700 100% Copa Y Copa N $3,750
$260 SOZ/O $5,900 100% 100% 100% 1 ! Copaz — COZay = N 53,750
S0 30%| 6,7 $3 100% N Y Coi Copay y [N $3,7
0% ,700 $47 5 v oins Coi Copay N ,750
S0 o $3,400 23 sa7 10041 7 T o Coins N N $3,750
50 800%: $3,400 0% $35 2100 Y Copay Colns Coins N N $3,750
5
$0 80;) $4,700 8;’ $35 $;oo N v Copay EOpay Copay E N 53,750
50 s 5,50 b 85(N opay $3
500 $35 Copa Co N 750
80% $1 Y Y ¢ £ey N
$0 80<ya $6,350 S 0 80% 585IN v Copay Copay Copay N $3,750
$2.500 | $5.00 10 07 0%|N C opay N $3,7
$5,000 80%] 5, - $10 o 0%|N Y opay _ |Copay Copay N = s, =
. ,000 80% > Co c N 1750
$3,000 80%| $6,8 $10 = 0% [N Y C pay _ |Coins obay N $3,7
209 ,850 80% Y opay - Coins N ,750
$6,000 %| %65 310 5 0%|N Coins i N 53
$0 80%| S 550 $10 80% 0%IN Y Copay Coin coins N N L
6,850 80% ° Copa S Coi N
y - Ins
$0 80%| 6,85 510 %[N . coins i .
,850 80% Copay Coins N
0 80%|  $6,00 $10 0%]|N Y Coins - N
,000 80% Copay Coins N
50 80%|  $7,35 $10 0%|N Y Coins . Y
,350 80% Copa Coin N
80% $1 d 07 Y y |Coi s N
50 800" $6,600 0 80% %N v Copay oins __|Coins N
$360 % 57,9 $10 - 0%|N Coins - Y
= ,900 %10 80% A v Copay Coin Coins N N
30% i Co > Coi N
N 0% 6 o Y e T o N
$ 547 509 Y opay __|Coi Coins N
$305 3 $40 e Copay oins __|Coins . N
$250 80% $5,900 100% 80% 593|N N Copay comns Coins N N
$0 80%| $6,70 53 S0%N N c Copay i N
80% 1% 0% 247 $10 N opay € colns N =
20 sono $4,500 = $47 ON v Coins opay _|Copay N
50 0] 55500 G T I T v VRN i o = N 53,820
%0 88? $5,500 0% o $93|N - Copay Copay  |Copay N N $3,820
50 Sof $6,500 $03 $40 593N v Copay Copay _ |Copay S N 55,820
50 800/0 $5,500 % $40 293N Y Copay Copay _ |Copay 5 N 23820
%0 80;0 $3.400 ;4 a0 $93|N - Copay Eopay Copay N N $3,820
50 o $3,400 00/° $35 295N v Copay COpay Copay 5 N 23,820
20 5% $3,200 = $25 223 N 7 oo Tconm Copay : N $3,820
0 | 43,400 5 0% 0[N Co opay |C $3,82
5 , 5 pay opa N 820
$415 0%| _ $5,000 0% $2 550|N - Co Copay _ |C Y $3,82
5 80% 0% of s v pay _|Co opay N . ;
15 ot $3,400 o $30 SN m Copay _|C pay  |Copay N 53,820
=0 80«; 56,700 of $47 293N v Copay COpay Copay - N 53,820
$0 80; $3,400 of $47 599N v Copay COpay Copay : N 53,820
$0 80<ya $4,900 0;’ $35 $i99 N v Copay COpay Copay Z N $3,820
S0 s $3,400 % 35 00N - Copay Copav Copay N $3,820
) $01/° $35 285 - Y Copay copay Copay - N 55,820
N
S0 510 $40 $85 N v Copay COpay Copay N N $3,820
S0 5 2 70|N Co opay C $3,820
80% $10 > $8 N pay  1Co opay N =
20 80‘; $1,000 $10 $45 SQS N N Copay c pay Copay N N $3,820
0 s 1,000 20 5|N Co opay C $3,82
s , pay opa N 820
$0 ngf $1,000 215 $45 STOIN ’: Copay EOpay COpaz = N 53,820
0 s $2,000 $20 5|N Co opay [C $3,82
. pay opay N 820
0 80%|  $2,00 $15 $70(N Y Copay N $3
,000 $45 Copa Copa N ,820
% :g;ya S1.000 $10 T $85|N i COpaz Copay Cosaz N N $3,820
$0 80; $5,900 Si: $35 225 N v Copay Eopay Copay E N 53,820
5 $0 80; $7,150 10 $47 s SN v Copay COpay Copay N N 53,820
500 6| $3,00 807 93N Co opay _|C $3,82
$3 80% 0 $10 % 09 Y pay  |Co opay N N 0
,500 ° $5,80 309 %|N Co pay C $3,82
7 80% 0 $10 % 09 Y pay  |Co opay |N N 0
,000 = $6,850 80% %IN v Copay pay  |Copay N 53,820
=0 80;) $7,000 210 80% %N v Copay Eoms Coins N N $3,820
0 0 oi N
— 3% S 80% i v Copay _|C ins __|Coins N 53,820
$400 b 10 0% 0%|N Co 0ins Coi N N
$100 50% $15 O; 0%|N Y Copay Coins CO{ns N N
a - 0
$500 50% 50% SO; 0%IN N Cop y __|[coins c ins N S
1500 50% 50% ° 0%|N N C pay Coins ons Y
$3 80% $15 0% 09 N opay __|Coi Coins N N
$1,200 0% $4,500 510 50% 50;0 - N Coins —coins Coins [N N
/400 6| 56,850 80% oIN Coin oms Coi N
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20 809 o 80% 0N Y Copay ?ns Coins N
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S0 80% $3,000 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $5,000 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $7,500 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $8,200 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $6,850 $10 80% 70%|N Y Copay Coins Coins N N
S0 80% $7,000 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $8,000 $10 80% 0%|N Y Copay Coins Coins N N
$1,500 80% $5,000 $10 80% 0%|N Y Copay Coins Coins N N
$3,000 80% $5,000 $10 80% 0%|N Y Copay Coins Coins Y N
S0 80%| $70,000 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $8,700 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $9,100 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $6,650 $10 80% 0%|N Y Copay Coins Coins N N
S0 80% $5,800 $10 80% 0%|N Y Copay Coins Coins N N
$1,600 80% $4,800 $10 80% 0%|N Y Copay Coins Coins N N
$3,200 80% $7,050 $10 80% 0%|N Y Copay Coins Coins Y N
$1,600 80% $5,000 $10 80% 0%|N Y Copay Coins Coins N N
$3,200 80% $5,400 $10 80% 0%|N Y Copay Coins Coins Y N
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